1.

5-3x>8,2x+ 3> -5 WESHE x 9 729

@2 @1 20 @ 1

5—-3x>8=>x< -1
2x+3=>2-5=>x>-4
L-4<x<-1

e o]g wHEshs b 2 g4

ol

~2 o]t




- 3x+2>-13
Y54 of she Fm
x—12>2x

HEXN3x+2>-132 ZWH
3x+2>-13
x> -5
HEAy_1>2%2 =W
x—1>2x
Lx<—-1

-5<x< -1




- 3x-4<2
YR O] a7t a < x < boltt. o]w, a, b2
5-2x<9
77} Fatolet
> E
> E
D> HEa=-2
> HE b=2

s

O
=

3x—4<2
3x<6
L x<2

5—-2x<9
2x > -4
Lox> =2

mEtA 2 <x <294 a=-2, b=2 0|t}




4. o2 AdFEFAY N ta<x<b D, b-ad2?

3(4x =3) > 2(x +3)
5(x+9)—5>15(x—4)

@ 2 @ 7 ® 13 @%7 e 3

B

i) 3(4x—-3)>2(x+3)
= 12x-9>2x+6

=>)c>3
2

i) 5(x+9) - 5> 15(x - 4)
= x+9-1>3x-12
= x<10

3
" §<x<10

1
a:g,bzloo]gib_a:m_g 7




0.7x-12<0.5x+0.4

BUEEA o
<

o5  @s ® 7

B

0.7x-1.2<0.5x+ 0.4
x4+ 2
3
3 <

x<8

—

x<7

Lx<7

whebA 71 2L A4k 6 o]t

—

Tx—12<5x+4
x+2<9




aRsa ] T ol e o A a ol G W
-2x <

@ a>3 @ a<3 ® a>6 @ a<6 (@)as6

-x+a>5 — a-5>x

3-2x<1 — 1<x

7t glesHa-5<1

La<6




ﬁ%#%ﬁ{““”sx 2o st e, sl Ales
x+1>1

Fotelet

> o A

3(x—2)<x-2 3x—-x<-2+6 x<2
x+12>1 x20 x>0
L 0<x<2
weba] 24l S 1, 22 B 2 7jolct,




@
0 2 6
1T
-20 6
®

6(6-4x)<-12 = x>2
59x+1) <275 = x<6
T 2<x<6




02x+16<x

dgu=g ], A i7tasx<b D, b-a WS
§x—10S5

et

®16 @8 ® 6 @) ® 2

B i

2x+16<10x - 2<x
5x—20<10 —» x<6

T 2<x<6
a=2,b=6
“b—-a=6-2=4




10. xof g agpga (07000 g
04+x>02x-1.2

e o 290 22 o, o 9] ge TStk

A
Y

Q
t

ol
i

4

2o}

=

~&B

0.2x—0.4 > 0.6 2] ] 102 FolH
2x—4>6, 2x>10

xX>5

0.4+ x> 0.2x—1.2 o 9| 102 F5IH
4+ 10x > 2x—12

8x > —16

x> -2

Sa= -2




2 1
BEANAE03x+2>05x—1°]1, B =X+ 1.5 <0.7x — 3

@ A%t x >89 FFM= x <80t

2
© B9 x<309 ¥53l= 30 < x<300°]t}h.

> H
> =
> 3! ©
> EE. ©

A9 BEA 9] o] 10 & T
3x+ 20> 5x-10
—2x > -30

x <15

B9 R54e] ope] 10
4dx+15<7x-5

3x > 20

20
X2 —

o
7
_?L
g

A% x >89 ZEFE=8 < x < 15, B8 x < 309 ZEF=
20 .
3 Sx< 30°]tt. A9t BE Sl E Aoty

Q]
=



2-x< 222 o o] 3.2 B
6-3x<x-28,

—4x < -14,

x>z

2

x—8

B o] s g <x<110]T
WESHE F4E 4, 5, o, 9, 1000

mEtA] BE x o] g2
44+5+6+T7+8+9+10 =49 o]},




AHFSA 14 -3x <84 2x < x+ 19 T TWEHok= 7P E 5 a 9
718 2L 5 b S T8k a- b 9] G277

@ 4 @ 5 ® 6 @ 7 ®)8

14-3x<8+2x<x+19
6
14 - 3x <8+ 2x x> =
= 5
8+2x<x+19 x<11
6
.- <x<11
3 X
Vg2 A% at 10
AR HE A b 2
T a-b=10-2=28




o 3% 7k 1AL B, 44 a9

x—a>0

{Qﬂx+2)>x—1

x—a>0,
b
olct,

04(x+2)>x-1,x<3

xX>a

H =
Y5

210 o % 47} 9WololoF 1B 1 < <2




SH= A4 ST 3 A A o, A a o ke

3x+13<-2

8—2x<a

it

22

v VvV v Vv
0
i

0x
o

23

B

3x+13< -2
3x < -15
x< -5
8-2x<a
-2x<a-8

(\S]
|

22<a<24
L a=22,23

-16<8-a<-14




= -x+->x-0.6 i
AYESA 5’ x45r2 g dEE?
3 9
D x<3 @ x>3 ® x>4
@ 3<x<4 @7t 2t

. 2
(i) gx+ g >x=06 1A 20+ 12> 30x - 18

L x<3
x+2 x-4
<
3

(ii)2- oA 18— 3x—6 < x— 4
>
H

x>4
A A O] S x < 3, x > 40| B2 |7} giTk.




x7F1, 3,5, 7,9 2]
—x+1>249 0, o3 F A 2 AS LF I=2H?

=]

=
554 Bol A € A9 S 54 A9 dfolct.
@ A,B,C0) FENE AT,

@)t c ol BEaE 49 et 2ot

B

—x+1>-2x<39]E& 1, 3

ohrt,
® Bt 9] BEHE ] ot

AE3,5 7,9BEx-5<3, x<8°B&2 1,3, 5 7CE

@ Bt C 9 FF3lE 1,3°122 B €2 TFsle A< a7t




H =
Yr54)

18.
—4x-15<1
3x+a<x

a7} b7 28 o, o o] & Fotolel

o —— &

vV V¥
02
o
|
o

B

dfl= -4 < x <4 °|th
—4x—-15<1

—-4x < 16

x>-40]|B2g

3x+a<x 9 = x<4 0|t
2x<—a=>x<—g




19.

5x+7<3(x+a)

AgEE=A O] 57t —b < x < =5 & i,
3(x—1)+4<5x+25

b o) e

D)-12 @ -6 ® 2 @ 6

® 12

5x+7<3(x+a)
3(x—1) +4<5x+25

5x—3x<3a—-"7
%
3x—5x<25-1
‘< 3a—17
D A
x>-12
b 120 0T 5 s 1 h=12
b_ 49
a




2
10 - <4
{ i o H5ohE A W, B4 a o A5 ool

10— x

<a, 10—x<4a,x>-4a+ 10

w

6x—5<2x+1, 4x$6,x$§
Baale 27 faas
—-4a+10<1

9

4

oA A a 9o HE2 3 otk

S.az>




21. AYLEA {4*‘“5 o a7t 91 o, o o 7] WSS Fo

dx—-a<b

a+5
LX<

a+5 1

4
7t gloaE 20 < ol

kA g+ 5 < -2 ©|RZ g < -7 oJt},




22.

x+3y=5,4y+3z=6 4 o, 54 x < 3y < 5z & WFA|7]

o kel wskg Faku?

5 10 30 )
®§<x<g @2—990<x<§ i
@§<x<@ @—E<x<—§

55 . 5
<29 2

x+3y=5% y°l Bslo] EH

_5-x
3
4y + 3z = 6 ol ot ZH
6 — 4y 4
pr— :2——
3 e
y=""2g s
4 5-—x 20—4x 4x-2
z7=2—-=-X =2- =
3773 9 9
- 4 -2 = =
y=225 1= T8 RE A st
4x —2

X<b5—-x<bHx

xX<5-—x,2x<5b

)
x<§ PNQ)

5—x<m,45—9x<20x—10,

55

E<x...®

@KDWH;%<X<3




Qepey ) T3S 2(1-x)
o S

4 £ WEshe 4
44 x<-2x+a
R ER TR LI
@ a<4 @ 4<a<7 B3 a<7

@)a<as<7 ®4<a<7

o

N
-~
w
=
)

N
)
ol
oL
H-]

-3x<2(1-x) x> -2
-4
4+x<-2x+a x<a3
A4 x -2,-1,00]22 0 < “;4 <1
4<a<T7




: oxtl <1, B:3x-8 < —x o U5} AoA BE

SH Apelso] A4 Fatelet

N =

= 4l

5x+1
6
Lx<1
B:3x-8<—x
LXx<2
oA AolA BE A &3 Rig BhE
Aol

<1

A




x a+11

o o7t -2 < x <3¢ W, AT a9

2 6 ’ 3

11
2a+2<x<ag I 2<x<30] o=z
20+ 2= -2




